Dear Parents and Guardians,
I wanted to take a moment to share with you what we are working on in math.  During the next week, your child may come home and very excitedly tell you that he or she can do big multiplication problems.  It’s true! We are learning to multiply multi-digit numbers. As they work on homework, they may begin to show you how they are learning to solve problems in class. You may sit there scratching your head and thinking to yourself, “That’s not how I learned to do it!”  
You’re right.  It’s not the way I learned to do it, either.  However, today, the emphasis has moved away from students blindly following rules and has moved to teaching techniques that they understand.  In other words, instead of simply following a set of rules, your child can tell you how and why 69 x 7 = 483.  This knowledge of the WHY behind the traditional algorithm is SO IMPORTANT to ensure the students’ mathematical success later on. 

Attached is an explanation of how we will be working these problems out.  It is called “The Area Model.” Most students take to this “new” method very quickly, as it makes a lot of mathematical sense, ties into their previous knowledge of place value, and allows the students to compute “easier” products. Of course, like any new method, it may take them a while to become completely comfortable with it. The more they practice, the quicker they get with it, and I have found that most students are actually able to complete problems by using the area method quicker than by using the standard algorithm. As we learn this way, I’m asking you to trust me that this method is important to try. We will be learning the “normal” standard algorithm later, but I ask you not to show your child this method just yet. 

If, for any reason, you need or want further explanations, please do not hesitate to write me a note so we can set up a meeting. Thank you for giving your child his/her best chance to be successful in mathematics. 
4th Grade Teachers
The first thing you need to understand is how to find the simple area of a rectangle.

4 x 8 means that you have a rectangle that is four units (boxes) down and 8 units (boxes) over.  You could count all of the boxes in the rectangle to find the answer but it is much quicker to just multiply these numbers.  Therefore, we can find the area of the rectangle and solve the multiplication problem – 32.
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Now we can do a bigger problem.  Let’s try 5 x 19.  First, draw a rectangle that is 5 units (boxes) down and 19 units (boxes) over.  19 is too big for us to multiply in our heads so we need to break it down into more manageable numbers.  If we break our big rectangle into 2 smaller ones, we get much more manageable numbers.  Then you can find the area of each rectangle.  The first one (5 x 10) has an area of 50.  The second one (5 x 9) has an area of 45.  Now to find the area of the entire rectangle, you add the area of the two smaller rectangles.  Since 50 + 45 = 95, 5 x 19 = 95!
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After you get comfortable doing these problems on graph paper, you can move on to doing these problems without the grids.  So let’s do 83 x 3.  First draw a rectangle and divide it into two smaller rectangles.  We know we need to divide it into 2 smaller ones because we have a 2-digit number.  We put the one digit number on the side.  We then put the multi-digit number on top.  However, just like in the last example, that number is too big for us to work with.  Therefore, we need to break it up.  We know that one way to break up numbers is to write it in expanded form.  83 written in expanded form is 80 + 3.  These two numbers are the two numbers that we will put on the top of our rectangle.  Now we just need to find the area of both boxes.  The first box has an area of 240 (80 x 3).  The second box has an area of 9 (3 x 3).  Finally, add the two smaller rectangle areas up to find the area of the larger rectangle and, in turn, the answer to the multiplication problem.  240 + 9 = 249 and 83 x 3 = 249.
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This process can be used for any size number.  The only thing that changes is the number of smaller rectangles that you make.  Check out the following problem and the steps used to solve it:  565 x 8

1. Draw a rectangle.  Write the one digit number on the side.  Draw 3 smaller rectangles since the larger number is 3 digits.  (I tell the students to draw the lines where there “plus” is.) Then expand the three-digit number out for the top dimensions of the smaller rectangles.  

2. Find the area of all the smaller rectangles and add all of the areas up for the final answer.  4,000 + 480 + 40 = 4,520 and 565 x 8 = 4,520.
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Happy multiplying, and again, let me know if you have any questions! Thank you for your help and trust!
Please sign below, and keep the rest as your guide!

__________________________________________________________________________________________

I have read the fourth grade “area model” explanation sheet and understand that this method will help students build a conceptual understanding of multiplication. I will work with my child and encourage him/her to use this model. 

Student’s Name: _____________________________________

Parent’s Signature: ___________________________________
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